Ratio to ATLAS

1/od?/ d m™>Md |y vGev]

|
o
R

|
o
@

-
<
N

107>

0.5

13000 GeV pp tt
N I R I R | 1 1 T T e
3
— M(ttbar) (ATLAS semileptonic ttbar) =z
- 1S
o
B R
B — Nl
— o
—
— |-
™
3]
=
— —
B 1<
o™
— =
o™
©
o
™
I —
- 5
— ° m ATLAS :>%
—  --3-- Herwig 7.2.1 default 1
| —— Pythia 8.226 default | g
----- ¢ Sherpa 2.2.5 default §
B 1w
©
o
— _ 1O
:; | | | | | | | | | I | : | |: =
— T T | T T T T [ T 1 1 i |:

- 2
1

B —0.5

1 " 1 1 1 " | " 1 1 1 " 1 " |
2000 3000

mtbar{t} [G eV], |

tbar

y

M in [0.65,1.3]



	Contents
	Page 1


